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  1- 1- In the right angled triangle, the square of the length of the 

hypotenuse equals…………………  

 

   
   
   

    
 

   

   

 
            The number of seconds in one minute equals ……….   

 

  ⓐ      12  

  ⓑ      24  
  

 

●     60  

  ⓓ      120  
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محاٚز  51ع =  5ص +  01ع +  01اذا قطع المطتٟٛ 

  ج, ب ,   االاحداثٝات ع , ص , ع في ايٓكط   

ٚ  .  حٝح  ٚ  ا ب جعًٞ ايترتٝب فإٕ حذِ المجطِ 

.......... ٚحد٠ْكط١ الاصٌ ٜطاٟٚ .

If  the plane 10x + 12y + 6z = 60 
intersected with the axes X,Y 
and Z at the points A , B and C 
respectively ,then the volume 
of the solid ABCO where o is 
the origin point equals …… 
cube unit   

20 ⓐ 

30 ⓑ 
50 ⓒ 
Otherwise ⓓ 
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 في ايشهٌ المكابٌ:

 عددإ َسنبإ    ,    

 .......... =  فإٕ 

In the opposite figure:   

 are two 

 complex numbers ,then   

 

 
 

 
2-  

2 ⓐ 

-2 ⓑ 

 ⓒ 

-  ⓓ 
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عددإ َسنبإ ,  ,  اذا نإ   

 ,      ( =  ضع١    )

  (  =  ضع١  )    

 فإٕ ضع١  

If  are two complex numbers 

, the amplitude of    

and the amplitude of  , 

 then the amplitude of = …….. 

3-

 ⓐ 

 ⓑ 

 ⓒ 

 ⓓ 

 

 
اذا كان عدد حدود مفكوك  

حد  21يساوي  

فإن ن تساوي  ........

If the number of terms in the 

 expansion of   equals 12 

terms, then  = ……….. 

4-

5 ⓐ 

6 ⓑ 

7 ⓒ 

8 ⓓ 
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 : في ايشهٌ المكابٌ

 عددإ َسنبإ  ٚنإ   ,    

 (  عدد َسنب  ) 

  = ........... فإٕ   

If   are two complex numbers,  

and  is a complex number,  

then = ……  

 

5-

-ت    1 -  ⓐ 
-ت    -    ⓑ 

 ⓒ ت   

 ⓓ ت   1

 

Z1Z2 Z1 

y 

x 
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    طٍٛ ْصف قطس ايهس٠

   - ع 01ص  + 5 –ع 1 – 

  = صفس  ٜطاٟٚ ........ ٚحد٠ طٍٛ  . 0

The radius length of the sphere  

 
Equals ……… length unit  
 

 

6-

3 ⓐ 

4 ⓑ 

5 ⓒ 

6 ⓓ 

 

 
  (  9 -,  1,  1-( , ب = )  2,  0-,   1= ) ا اذا نإ   

 = ............. ٚحد٠ طٍٛ  فإٕ طٍٛ  

If  (2,-1,3) , (-2,2,-9) , then the 

length of  = …… length unit 
 

7-

15 ⓐ 

13 ⓑ 

12 ⓒ 

10 ⓓ 
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 َطتطٌٝ  ,  ا ب ج ء في ايشهٌ المكابٌ : 

= ........... فإٕ       ∋ٖـ  

 

In the opposite figure,  is a 

rectangle,  
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7 ⓐ 

8 ⓑ 

9 ⓒ 

10 ⓓ 
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  = (  ,  3  -,  2,   1= )  اذا نإ  

  , ّ ( ٚنإ  1,  3) 

فإٕ ق١ُٝ ّ = .........   

If   = (2 , 3 , -4) ,  = ( 4 , 2 , m)   

and  ⊥  , the value of m =.……  

 

9-

1 ⓐ 

2 ⓑ 

3 ⓒ 

   ⓓ 
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عدد ايطسم ايتي يمهٔ تهٜٛٔ بٗا 

  ثمانية فسٜل َٔ ضت٘ اعطاء َٔ بين 

بٓات ٚضت٘ أٚلاد بحٝح يحتٟٛ ايفسٜل 

عًٞ ثلاخ أٚلاد فكط ٜطاٟٚ 

................. 

The number of ways that a team of six 

members can be formed from eight 

girls and six boys such that the team 

must include only three boys equals 

…….… 

10- 

 

1001  
2110 

ⓐ 
0011  

1120 
ⓑ 

0111
1008 

ⓒ 
101    

810 
ⓓ 
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 ….……    ........=ت   01+  4 *

11-

 ⓐ ت (     2+  1)  ±

 ⓑ   ت (   1+  2)  ±

 ⓒ ت ( 2 – 1)  ±

 ⓓ ت ( 1 – 2)  ±

 

 
 

 إذا نإ أطٛاٍ أضلاع َجًح ٖٞ   

      

فإٕ ايك١ُٝ ايعدد١ٜ  َٔ ايطٓتُٝترات  

لمطاح١ المجًح = ....... ضِ 

1 

       

If the sides lengths of a triangle are     

    n   ,  n-2  ,  2-n    cm ,then the 

numerical value for the area of this 

triangle = ………. cm
2
 

12-

 ⓐ 

 ⓑ 

 ⓒ 

 ⓓ 
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 أٚدد قٝاع ايصا١ٜٚ المحصٛز٠ بين المطتكِٝ   

   

 

صفس . = 4ع +  –ص  –ع  1 غٚالمطتٟٛ    

 

Find the measure of the angle 

include between the straight line    

L :    and the 

plane  
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 ااذا ناْت المصفٛف١    

ٚنإ     =

  3-  =  ب ×   ا
أٚدد     1ٜطاٟٚ  اٚنإ َستب١ المصفٛف١  

     ق١ُٝ  

 

If the matrix A= 

  ,   

   

and the rank of the matrix A 

equals 2 , find the value of  

 

14- 
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 بدٕٚ فو اثبت إٔ المحدد 

 = صفس

Without expanding the 

determinant  , prove that  the 

determinant   

      = 0      

15- 
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٘ أٚدد حذِ َتٛاشٟ ايططٛح ايرٟ فٝ 

 ثلاخ احسف َتذاٚز٠ ممجً٘ بالمتذٗات 

                 ,         

       , . 

Find the volume of the parallelepiped in 

which three of its adjacent sides are 

represented by the vectors  

      - 12  - 3     ,          3  -       ,       2 

  +  - 15  
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ٜٛات   ع ع   ,   ع ص   ,   نسٙ تمظ المطت

عًٞ ايترتٝب     ج, ب ,  ا ص ع    في ايٓكط 

( أٚدد  2,  5,  2)  ءقطس فٝٗا حٝح     ,

 َعادي١ ايهس٠ .

If a sphere touches the planes  

XZ ,  and YZ  at the points A , B  

and C  respectively ,   is 

 a diameter on it such that 

 D( 3 , 6 , 3 ), 

find the equation of the sphere. 
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أٚدد جمٝع قِٝ    ٕ   , ز   ايتي تجعٌ 

  =011 . 

Find all values of n and r such that 

  = 120 
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 ,  اذا نإ ضع١ ) ع + ت ( =  

  ( =  2 –ضع١  ) ع  

أٚدد ع عًٞ ايصٛز٠ الجبر١ٜ  حٝح ع عدد 

 َسنب .

If z is a complex number, the 

amplitude of      

and the amplitude of  

   , find z in the 

algebraic form.  
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اذا ناْت َعاَلات الحدٚد ايسابع ٚالخاَظ 

ٚايطادع عًٞ ايترتٝب في َفهٛى  

تهٕٛ َتتابع١  

 حطاب١ٝ أٚدد ق١ُٝ ٕ .

If the coefficients of the 4
th

 , 5
th
  

and 6
th
 terms respectively in the 

expansion  of form an 

arithmetic sequence , find  

the value of n . 
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……………………………………………………………………………………………………………………………………………….………… 
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